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J| 11,982
[ia 11,984
101 @124l 18,173 13,495 4,678
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OxAzsE 22 N3 18,173
—Jl=s 73,2803 x1&H+150 10,992
J| 5,496
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01 AL ESHSH 5,200 0 5,200
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—NEANE wH XA
20,000,000 *2H 2~ x50/ 100 20,000
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ENESALRIMAD|BI R (MEALY) 38,400 48,000 A 9,600
= 32,000
s 6,400
402 RI2EX20| A 38,400 48,000 A 9,600
= 32,000
s 6,400
02 QI EAIL EZ (OIS ) 38,400 48,000 A 9,600
OREZ SLKBMIIBDE(HE)
16,000, 000& =4 K 2~ x60/ 100 38,400
= 32,000
e 6,400
S=dH XNE ALY 6,000 6,000 0
S 1,800
s 4,200
307 glz2tol & 6,000 6,000 0
< 1,800
s 4,200
02 M AHE X 6,000 6,000 0
OHY=sedH XNIEAY 200,000& x60< x50/ 100 6,000
= 1,800
= 4,200
TEF=AD|EtE S 1,812,692 1,534,525 278,167
J| 137,325
< 240,709
[ia 1,434,658
StSAE U3 ALY 60,000 0 60,000
402 RIZEX20l ™ 60,000 0 60,000
01 RIZE Xt 2 AL E = (REA &) 60,000 0 60,000
OStRAE SUSHAY
6,000, 000& *20JH 2 x50/ 100 60,000
SOtX M AOHE AR 5,000 5,000 0
< 1,500
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402 BI2FX=01 M 5,000 5,000 0
< 1,500
s 3,500
03 212t & AHH HI 5,000 5,000 0
OSSO0t 4 AHOHS 20,000 #5005 *50/ 100 5,000
< 1,500
s 3,500
st Z=dz XN 40,000 40,000 0
307 glz2+ol & 40,000 40,000 0
02 QB HAANEEE 40,000 40,000 0
0% ATHI2 X
40,000& *2,000%! *50/100 40,000
Dss8YL=T ZLHAY 47,640 44,200 3,440
< 14,292
s 33,348
402 RI2EX20| A 47,640 44,200 3,440
= 14,292
s 33,348
03 212t &AL S HI 47,640 44,200 3,440
OlsggdLrsza8M0d 39,700& x 1,200 47,640
< 14,292
s 33,348
StRYar SESHEIMNEAY 40,000 40,000 0
< 12,000
[ia 28,000
402 RIZ2EXt20l ™ 40,000 40,000 0
< 12,000
[ia 28,000
03 212t EFAL S HI 40,000 40,000 0
OS2 HEZME ALY 10,0002 *4,0005 40,000
< 12,000
i 28,000
2QHAE S ALS 100,000 100,000 0
402 2I2H X201 M 100,000 100,000 0
01 2I2F 2 A B (RERTH ) 100,000 100,000 0
OLHAMALE W2 XA
20,000, 000& *109H 2= x50/ 100 100,000
IIEMHEE sHURHES X2 355,982 346,500 9,482
< 71,200
[ia 284,782
307 21201 A 355,982 346,500 9,482
< 71,200
[ia 284,782
(=== 355,982 346,500 9,482
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ONEMMEE =2 LI (2HIFIH177
982& 2,856,998% »17821 70/ 100 355,982
= 71,200
s 284,782
LAUASAXEA 140,000 0 140,000
J| 100,000
< 12,000
s 28,000
402 2I2H X201 M 140,000 0 140,000
J| 100,000
< 12,000
[ia 28,000
02 QI EASEZ (01X ) 140,000 0 140,000
Ol 2
200,000,000% *1JH 2 x70/100 140,000
J| 100,000
< 12,000
s 28,000
LAHEHS XA 6,500 9,700 A 3,200
< 1,950
[ia 4,550
307 gl2tol & 6,500 5,700 800
< 1,950
s 4,550
02 IZHEHAHE L 6,500 5,700 800
OsOtatH Ed 3 A&
3,250,000& *4JH 2~ x50/ 100 6,500
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